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fixed time Chernoff
max inequality

linear boundary: \lambda= 0.11
— linear boundary: \lambda= 0.30
linear boundary: \lambda= 0.20

20 1
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(a) Fix 0 = 0.05. The ‘fixed time Chernoft’ repre-
sents /2tlog(1/6) which holds at each ¢ but not
all t < 500 simultaneously (which is why it is dot-
ted). The ‘max inequality’ holds for all ¢ < 500,

and the linear boundaries hold for all ¢ € N si-
multaneously.

fixed time Chernoff
union bound 2 t~2

curved boundary:
u~2=0.03
curved boundary:
u~2=10

120 4

100 4

0 100 200 300 400 500

(b) Fix § = 0.05. The ‘fixed time Chernoff’

represents /2tlog(1/6) which holds at each ¢
but not all ¢ € N simultaneously (which is why
it is dotted). All other curves do hold for all
t € N simultaneously. “union bound 2¢2” plots

V/2log(2t2/9).
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